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1 Generalized Error of AdaBoost Based on Margin

The analysis of AdaBoost mainly includes two parts: to analyze the margin of training
examples and to analyze if achieving certain margin is enough to guarantee the test error
given enough training data. In the previous lecture, we outlined the proof of the upper
bound of generalized error of AdaBoost as a function of margin. Today we are going
to finish the proof. First, lets summarize the notations which will make the upcoming
discussion easier.

H < Weak hypothesis space
coH) = {f(z)= >_jajhi(w) ra; 20,3 a; =1,h; € H}
v = {gl@) =% XN hi(z) by € H}

D &' Distribution on X x {—1,+1}

S ' Sample set

Prp[] ¥ probability over (z,y) ~ D

Prs[] ¥ probability over (z,y) sampled in S uniformly at random

And following is the theorem we are going to prove.

Theorem 1 With probability > 1 — 6, Vf € co(H), V0 > 0,

Prplyf(x) < 0] < Prslyf(z) < 6] + o(jm\/ il m%),

This theorem says that the generalization error of AdaBoost can be bounded in terms
of the number of training examples with margin below a threshold #, plus an additional
term which depends on the number of training examples, the size of ‘H, and the threshold
f(preventing us from choosing 6 too close to zero).

Here we are interested in the function f(x) = >, a;hi(x), which can be approximated
by sampling in the hypothesis space H with the probability given by a;. Let

9; = a hypothesis sampled from H, h; chosen with probability a;
g(x) = §X;i9i(r) €Cn

Then g(x) can be regarded as a survey taken over the h;’s, which can be viewed as the
voters. From the definition of g;, we have

Eylgj(2)] = f(x)



And by Chernoff bound we know g(z) better approximate f(x). We will prove Theorem 1
by showing:

and then
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Prp |yg(x)

~ Prs |ug(o) < 5|

Above is the high-level argument, we will go through the details of the proof in four
steps.

Step 1 For fized z,
0
Prg ||f(z) —g(x)] > 5} < By, where By = ¢~ NO?/8
This step is just the formalization of the Chernoff bound argument.

Proof: Let Z; = g;(x), then g(z) = %23 gj(z) = %23 Z;. By using Hoeffding’s in-
equality, we can directly come to the result.

Step 2 For random x with (z,y) ~ P,
0
Preg |luf(@) - vg(@)| > | <

This step is much the same as Step 1, except that (z,y) are chosen randomly according to
some arbitrary distribution P.

Proof: By applying the marginalization trick Pry ,[II] = E,[Pry[II|z]], we have

Prpg [ny(iﬂ) —yg(x)| > g}
= 5o {Pr, [luf(@) - wo)l > 517 |

< Ep{3|P}
Bo

Step 3 Fiz g and 6 > 0, let

P, 9 = Prplyg(x) <

A

Pyo = Prslyg(z) <
then with respect to the choice of sample,

~ 9.2
Prsample[Pg,H > Pgﬂ + E] <e 2e m.



Proof: We introduce a new variable Z; for each example as follows

Z — {1 if y;g(x;) < 0/2

0 else

Then we have

E[ZZ] = Pgﬂ
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Then we directly come to the conclusion by applying Hoeffding’s Inequality.

Step 4
Prsample[ﬂg €Cn,0>0: Pyog> Pyo+ €] <6

if

e: \/an% + D[R/

2m

The technique for this step is union bound. Here we have Cy = |H|" and is thus finite.
The problem lies in the real value 6. It turns out that even if there are infinity number of 6,
there are only finite number of interesting ones. Actually we are interested in yg(z) < /2.
Plugging in the definition of g(x), we have

yg(x) < 0/2
= %%:gj(ﬂf) < g
<~ Z/ZQJ(:E) < g@.

The left side of the inequity, y > ;9 (z), is an integer and the right side %9 is not necessarily
an integer, thus the inequality will be true iff

N
) < |Z=0].
ng](g;) S { 5 GJ
J
We do not need to consider all the fs, but only for the ones that make %9 an integer. Let

~ 2 |N
2|3



Then Py g = Pgﬁ, and so

Praampie[39,0, Pyg > Pyo + €]
= Prsample[agae P e P g,0 + E]

N
< ]H\N (5 + 1> Prsamplc[P >P a0t €] (Union bound)
~ 2 N
f the f — =0,...,—
(Goteorva,v 0, ,2)
N
< [HN <E + 1) g 2¢"m (By Step 3)

= 0

To put all the four steps together, we have with probability at least 1 — 0,

Prplyf(z) < 0]
Prpglyf(z) <0
= Prpglyf(z) <0Ayg(z) <0/2]+ Prpglyf(z) <0Ayg(x) > 0/2]
< Prpglyg(z) < 0/2]+ Prpgllyf(z) — yg(z)| > 6/2]
< Ey4[Prplyg(z) < 0/2|g]] + Ba
< Ey[Prslyg(z) < 0/2|g] + €] + Bo
Prsglyg(z) < 0/2] + e+ [y
= Prgglyg(z) <0/2Ayf(z) < 0]+ Prgglyg(z) <0/2Ayf(x) > 0] +e+ By
< Prsglyf(z) <01+ Prsgllyf(z) —yg(x)| > 0/2] + e+ B
< Prglyf(z) <0+ By +e+ By

By plugging in

4 m
N=|=In———r:
[02 In mﬂ
we get exactly the final result.
The bound proved above is not very meaningful unless m is very large. There are better
bounds available. However, Theorem 1 does give a bound that predicts no overfitting.

2 Application of Boosting in text document classification

Boosting is used in text document classification, with one example being SPAM email
detection. The weak learner often used is to test whether the document contains certain
word or not.

Using such kind of weak learner means searching out a large space of hypotheses, because

|H| = number of words in the vocabulary

This number can be even larger if we are to count in short phrases in addition to single
words. Theorem 1 leads us to an easier life by making the bound only depend on the log of
the size of the hypothesis space.
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Figure 1: A Weak Learner Example

3 Introduction to Support Vector Machine

Boosting does not start out from maximizing the margin, but it seems that maximizing the
margin is a good idea and this approach is taken by another learning algorithm, the Support
Vector Machine, or SVM. Let’s introduce the idea of SVM by looking back on the half-line
learning problem (Figure 2). In this problem, we want to learn the separating point of the
positive examples and the negative examples. Intuitively, we want the separating point to
be half way between the closest positive and negative points. What if the instances are in
a high dimension space? A straightforward idea is to generalize the separating point to a
separating hyper-plane, which divides the whole instance space into two half-spaces. The
basic idea of SVM is just to find such a separating hyper-plane, to maximize the margin
between the hyper-plane and the data point. Here we assume that the data is linearly
separable, which means we can always find such a separating hyper-plane. The model is
formally defined as follows.
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Figure 2: One-Dimensional Separating Problem

Given a set of pairs, (x1,¥1), (X2,%2), -, (Xm, Ym), with x; € R [|x||l2 < 1 and y €
{—1,41}, we want to find the hyper-plane v - x = 0,||v||2 = 1 (assume the hyper-plane
goes through the origin). Later we simply represent the hyper-plane by its normal vector
v. By using a little geometry knowledge, for any point x we have

> (0 if x is above the hyper-plane
v-x1{ <0 if xis below the hyper-plane
=0 if x is on the hyper-plane

which gives a natural predicting hypothesis h(x) = sign(v - x).
The margin of SVM is related to that in boosting, but slightly different. Specifically, it
is defined as follows:
margin = y(v - x)

The margin is > 0 if (x,y) is correctly classified. In SVM, we not only want the examples
to be correctly classified, but also want its distance from the separating hyper-plane to be
at least 6, i.e. margin > 6. Thus we can express the problem of finding the separating



hyper-plane that maximize the margin as a mathematical programming;:

maximize 6
st. vl =1

We will see later that the result of this programming only depends on those examples
with margin exactly equal to 6. The points x with y(v-x) = § are called the support vectors.
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Figure 3: Support Vector Machine



4 Comparison of Support Vector Machine and Boosting

The following table summarizes the comparison of support vector machine and Boosting
in terms of the space of instances/weak hypotheses(they are counterparts in the two algo-
rithms), the parameters to optimize, the predicting method and the definition of margin.
We can see from the table that the two algorithms have high similarity.

SVM Boosting

Instance/ x e R" h(z) =< hi(z), ha(z),... >, hi€H
Wealk Hypo-| i, <1 | [[(2)llo = max; |hi(x)| = 1, hi(z) € {~1,+1}
Search VGR” a=< ai,ag, ... >
Goal

o [v]l2 =1 lalls =2, la;| =1
Prediction | sign(v -x) sign(a - h(x))

Margin y(v - x) y(a-h(x))

Table 1: Comparison of SVM and Boosting



